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7 If Azhagan is 50 years old and his son 1s 10 years old then the simplest ratio
between the age of Azhagan to his son is

(A) 10:50 : “(B) 50:10

w 5:1 , | M) X6

sipsaflan cuwg 50 wHML Seurg waeallar anug 10 aaflld Dsear LHMIDL ST Waeflar
auwgissrear elldlgdden eraflw auig.eud

140. Saran is 6 times as old as his son Sankar. After 4 years, he will be 4 times as old as
his son. What are their present ages?

&) 30,5 G 36,6

(C) 48,8 D) 24,4

syam eranuaufler quwg sear waen smsflar auwas Cure 6 wLRE. 4 umBLsar sH58)

sauflar auwg waear auwengls Cume 4 LG afled, Seutsellar sHCLTMFHW euwg eTeamen?

(A) 30,5 (B) 36,6
(©) 48,8 | (D) 24,4
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190. The present ages of Reena and Usha are 24 years and 36 years respectively what

58.

60.

was the ratio between the ages of Usha and Reena, 8 years ago?

& 7:4 ®B) 6:5

(@)- 2:3 M) 4:7

fewrm O 2 agrelan sHCUT@SWL augiser (papCu 24 aiHLAGET HMID 36 CUHL RS
aafle 8 PamDsErs@ ey 2.ayr wHn Feomeler awgsaar AHsL  ereraaNs
BopEmEEL? | '

A T ' B) 6:5

© 2:3 . Dy AT

The sum of the present ages of a father and his son is 60 years. Six years ago, father’s age
was five times the age of the son. After 6 years, what is the son’s age? |

(A) 12 vears  : (B .14 years :
©) 18 years (D)/zo years ‘ |https://t.me/tnpscfree|

shewg wHmb waaflar gHCUTMEW euwgsaflan éh@g@') 60 eupLmigeT. 6 QuBL_MsEHsEE ApeL],
gpangwilen euwg waaflsr euwenss Cumed 5 wLkIE eaafled 6 au@pHLRsEREEGL GDE waeflen -smugj
GTGITGT? ' o

A 12 ey isar B 14 s

(C) 18 eumLrusear (D) - 20 eu(mLrigar

The age of a man is 4 times the sum of the ages of his two sons. Ten years hence, his age will
be double of the sum of the ages of his sons. The father’s present age 1s

(A) 50 vears (B) 55 years
((‘f 60 years (D) 65 years

- gmeuflar sHCurangwu souQ seufldar @m waasar awgesdia sl HsAsmmamul Curd 4

sLiE odeg. 10 apLis@sess Gng wfla aug @o wadasefa awgsafler
s Hp@znensamul Curd 2 LLLE WL adafld, swflda spCurmsu aws

(A) 50 eumLruser - (B) 55 aumruser

(C) 60 cumLrusanr (D) 65 eumLruaer
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80 At present, the ratio between the ages of Arun and Deepak is 4 : 3, After 6 years, Arun's age
will be 26 years. What ia the age of Deepak at present? '

{A) 12 years - (BVIE years

(C) 191 yecars (D) 21 years

piCung., eimey whHpb Sué GACufd eawugsaia hgh 4 : 3. 6 apLisesgy dng
@ menfler g 26. sHCung Susdlan g agirrm‘l?

{A) 12 augy B) 1dawug

(C) 191 awug D) 21 awy

A is younger than B. Seven times the difference between their ages is equal to sum of their
ages. Ratio of B's age after 12 years and A’s present age is 5 : 3 then what is A’s present

age?
(A) 30 years \M 36 years
(C) 42yers (D) 48 years

A vppb B ACurmer A @eerweulr. euisaflan cuwgseaflean ellsHunesden 7 wLmsTeng)
saiseflar auwgselian ampsées swb. 12 Jyar@sEscl 9neg B War awugbd A Wer
snCurengw cuwgw 5 : 3 erenp gz @muuldear A ular gHCurensw euwig) eremen?

A) 30 eumLmser (B) 36 cumpLrusar

(C) 42 aumLruser (D) 48 quLruser

|https://t. me/tnpscfree|
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146.

66.

82.

The ratio of the ages of son and his father in 2015 and 2023 are 1:4 and 3:8 respectively.
Find the sum of the ages of son and fatherin 2010

IO\ 40 ®B) 30

() 35 | D) 45

2015 wpmib 2023 & @@ waea wWHNL sheguilar eawg lfsb weapCu 1:14 wHmd 3:8 aafiew
2010 & W& LHOID HeSSen w@gaaﬂsﬁ . (HS6) wimg)?
A 40 : ®) 30

© 35 (D) 45

If the ratio of father’s age to son’s age is 4 : 1 and the product of their ages is 196, then ratio
of their ages after 5 years will be

@  3:1 B) 10:3

J@( 11:4 D) 14:5

spes wpmty waaller awg dgb 4:1 Cogib eisdar Gmeuflarn awdlar QumsE CQsTas
196 erarfled 5¢umLrasEnéE Qanenit oauise G)meu e auwg) efldlgid

&) . 8:1 : B) 10:3

© 11:8 D) 14:5

The ages of Vivek and Sumit are 2:3. After 12 years, their ages will be in the ratio 11:15. The
age of Sumit is

(A) 32years (B) 42 years

M 48 years (D) 56 years

eflGeus wpmid s05 2w @meufler euwgisaflen ez 2:3. 12 yarBaEnsE 9DE eursaflen
auwg alldlsd 11:15 erafled sllgHlen cuwig)

A) 32 aupLriser (B) 42 cumLmisar

(©) 48 aumLmser (D) 56 eumLmiser

https://t. me/tnpscfree https://t. me/tnpscfree https://t. me/tnpscfree



172.  Arun is now half as old as his father. Twelve years ago the father’s age was three times as
old as Arun. Now the present age of his father’s age is

(A) 24 years (B) 36 years

M 48 years (D) 50 years

smenflan sHCUIMSIL QUG Sieum@LIL Fhamsude awfe unfuren. uaaligan® HemBals
apeny shesulen auugreg smerfldr ezt Gure apsLiETs @(mbag. SHGELNE slhenguilen

QUILIS)
(A) 24 syerHsen (B) 36 oyempsar
(C) 48 sya@n(aen (D) 50 e aer

53.  The ratio of the ages of the father and the son at present is 19 : 5. After 4 years the ratlo mll'
' become 3 : 1. What is the sum of the present ages of the father and the son?

&) 40 .- ® 42
\(;/43 D 52

FEULET WHDID WE@ELW FHGLTMSL awdbaL Cuuwner A8sb 19 : 5. 4 UGLRSEHES DG
Slaisefler aiuwg 3 : 1 aremp efldlgd aranpred Gmeaflar sHCLTengw auwBern s BEEFTns sTema.
@A) 40 ®) 42 . |
€ 48 . - (D) 52

-~ 57.  Now’ Sharma age is quarter as old as his father Six years ago the father s age was se;wen

‘times as old as Sharma. Find their present ages
832 ' (B) 10,40

M1248 R (D) 14, 56

agforedlesr g;pGurra),s‘u rauu.lg] am@mu_ w g‘uscngsuﬁlsu e &red urrasmrr@,l.n .%g c%m@sg @)ﬂﬂ_}
gpa}guﬂm GIJlI..lﬁl'l'iingl agiTLomell e smuengu Gunéd q@ LDL_BIHITS @@pg@ Seuisafler ggp@umwgm

UUNFE SiTeaTs,
(A). 8,382 | . ® 10,40 Lo
_(C) 12, 48 D) 14,56 - |https://t.me/tnpsciree|
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68,

Ratio of ages nf Muthu and Karthi at present is 5:3. But 6 }raara ago thut ratm is 3.1 What
is the ratm of their ages after 5 years?

(A) 5+4 ’ o iﬂ{'lﬂ:?

© .10:8 . o ©) 4:3

P58 mmgum srrﬁ'gﬁ 2 ACwirflen gmfﬁunmgm alwgsatien sﬂ&gm 5:3. ayenner 6 &l@l_mm@&g @m
2igiGa 3 tl v Qobss. aallo, gaGurldimis 5 w@LbsEss GpE .gmrrw_m

auwgisefien ailflsn cTeanauns, @@s@m‘?

@ 5:4 ®) 10:7
(©) rm;lis ' D 4:3

123 A father is now twice as old as his son, Twenty years ago, he was six times as old as his son.”

What are their ages now?

(A 60,30 | ‘ (B) 40, 20

© 82 \;Df5025

- shGUng @6 'e_r,‘r_r',emg,uﬂim QUUE| SIRITE DEET. @Jiuamgu@urra) @ LDUEJ@ @@u@ @J,@T@&;@a@

T ey, g,pmg,uﬁlsw s waeflar euwengtl Cumre. Lm LoL.naJ@ Graﬂen e',tlalrr&mgj g;m(?urrw;_r,u.l suu.lg)j

Greurarr? ‘ . _
" (A) 60, 30 | B (B) 40,20 o o

(©) 58 29 | (D) 50,25
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27' At present Abi is twice as old as Reeta. After seven years their age dlfferenoe is b years. The

110.

present age of Reeta is
5 | o ® 7
© 9 o o T M) 10 .

Qerm 2139er awg fLrelar aums Gure @@ wLks. 7 m@Lms@a’.@, &ammr amrrmﬂm
Qg a‘:ﬂ,sﬁu.ur&m S, erefléd filL_nafilér @enenpus cuwigy ereiian? '

@ 5 S BT
© 9 - D 10

A boy is nﬁw twice as old as his sister, four years ago, he was thrice as old as her what are

their ages now?

Ay 18,9

(B) 14,7 S [https://t. me/tnpscfree)

G 168

® 12,6 | |
R enuweher FHCUTRFW g g Fhimadler awmsuCurn Qm LLLEG, 4 JRPHEES

- PO BieueTgl uILIE) Sieuen Sriensulier cuwiens ICLITR apeng LOL RIS crafld), Sieuirsang) ',s_jb(}urrmg.m

g crena?
A) 18,9
B 14,7
© 168
(D) ;12, 6
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147. 3 years ago the average age of a family of 5 members was 17 years. After A baby born, the
average age of the family is the same today. The present age of the baby is

{A) 1year
{B) 14 years
I 2as
(D)  8years s

epeR auhLiEEnEE par 5 puT Herare gBbusdan sorefll awwg 17 supLiisd. gm GUpas
Gipss Gt E@HOUESE sl auLgh SHCE ST arafls oiasgpesar 5HCuTasL ais)

(A 1eamib

B) 11 eumdsser

(C) 2 eum rasdr

m 3 SufhL i e

172, The sum caf the ages nf a son aﬂd father is 72 years. After 12 years the age uf the father wﬂ_‘l-

be 3 times that of the son. What is the age nf the son m:rw‘?

\@( 12

(© 14
® 16

LD&EN LDMDID ﬁauuaﬂm sHCLma g mu.lﬁlﬂr aia.l_@]gjﬂgrr:mas ?2 12 m.@ma@a@ ﬂm@ g,a;uuaﬂ@r

alugl Lnase'oﬂm auifled 3 DL (5, crmmrrw DTGt gﬂﬂunmﬁm g & ses,

@ 12

22 . .-
@ 22 Ihttps://t.me/tnpscfree)
© 14 -
@) 16
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123. B is twice as old as A, but half the age of F. C is half the age of A but twice the age of

41.

D . Which two persons form the pair of youngest and oldest?

B-en auigy A -ai euwugiGuimed '@@ma_mg, Hamd F o awsPer und. C -an auwgy A -ﬁwmﬁé ungd
erre D -er aiude Qmorig. G Gaenuant whmibd apuwei @mfm 1?7

(A F wppd A

B) D wpgn F
(© B uwpgw F

M F wppo C

Latha is a year older than Sunita. Sunita is two years older than Bindu. Rajan is a year

older than Bindu. Who is the youngest of all?

(A) Sunita - (B) Latha
M Bindu - (D) Rajan

s, sefigreas AL gm cwwg Auilwet. . saligr, Gbgea oflL 2_4,5&1’@5:&1 Quilweuir. grger,
Dpgeeu efl. @ auwg Aufweur. erafid epeaufidh wrt Adlweur? ‘

(4) safign ' B) g

© Gpg (D) onggen
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123. Thanya is older than Eric. Daya is older than"['hanya. Eric is older than Daya. If first two
statements are true third statement is ' '

(A) True
\J False
© Umert.am
(D)  Certain
gﬁ:u.lrr. arflé-gg et QUIﬂlLIﬂJ-ﬁT. S, ,smurm cﬂL. Quitweusn. erfl&, swrena ol Auilwesen
oo Gren® sppsst s aefd appTasgl SPE TULGUCLE?
(A) &l

B) pag
(©) pyeurag e

. _ https://t. me/tnpscfree
@D opyeuneng) | S =

98. If Ais older than B, C is older than B but younger than A. D is younger thén Eand B.Bis
older than E. Then identify who is youngest?

(A A B) B
© C | o

B aw el A apgseur, C aemuet B ew eflL. apgsaurmsamd A e o @evetwausmseyi,
D aré@nucut E wpmyd B enw el @enemucunrse b, B erémueuit E—enw 68l epsseurnseand 2 avareir.
erasficd @den seyd @enemuwiaur wiri? : . _

a) A - ) ' ®B) B
@€ C | - ® D

169. The present age of A and B are in the ratio 4 : 5 and after five years they will be in the ratio
5 : 6 then their sum of present ageis

(A) 55 years ' ' @r 45 years
(C) 35years ' (D) 25 years

A, B arenLiauivaefin gs;p@urrmgnu g efldlsn 4 : 5. 5 m([ljl_rﬂ&@ai@ ﬁlm@ &Iﬂ.lfl’&@'ﬂﬂ'l suu.:gj 5:6
- arefle, @meufler sHCureg Ll aywden 5o DB

(A) . 55 eugpruser ' ' (B) 45 eumLksar

35 - 0 . ) . . . . - ) ’ )
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184. Tharani's age is 3 less than that of Ram If R.am & age is 13 What are the ratio of Rani and
Tharani's age? .

A 5:6
& 65
) 3:6
D) 6:3

srrestluflen euwig, :;nrmﬂuﬁlm auddimbs 3 @mmm :rn'sulﬂuﬂlm auwg 18. erafléd gmemfl mmgum

grrenflulien euiug el flgn wing?
Ay 5:6
B 6:5
(Cy 3:6
{ﬁ) 6:3

w
166. The sum of the ages of Rani and Mari is 14 years more than the sum of ages of Mari and
Nancy. Find how many years Nancy is younger than Rani? -
@ 12 ® 16

\‘@‘. 14 | IR D) 28

preafl wppid Gl ACGUMAer aiugssier mBs Cofl wHpb pramed e8CUTRe aLgssfidr

é@ggmé&: 3 VT 14 'm@mmgggm erefled mﬁ@aﬁmmmﬁ_u‘ﬁqﬂénu& ﬁr&q@t’n Gr_ﬁ,smﬁr
- awg Aflweui crand sk,

@ 12 - ® 16

(c)" 14 o | - D) 28
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138. Arun’s age is half as his father. Twelve years ago, his father's age was three times that of

Arun’s, what is the present age of Arun?

W 24 (B) 48

(C) 36 D) 12

sH0urg simeflear cwwg ey ghosular awde urd. 12 sardsErée ey shmguden
auwigy simenflan euweng Cumed ape wLkiE aeafld, sHCUTmSL ) Herflen auwig eranen?

A 24 (B) 48
(C) 36 (D) 12

34, Tenyears ago, the ages of X and Y were in the ratio 3 : 1. The ratio of their present ages is

2 : 1. Their present ages are

2 10,20 . ' B 20, 10

© 30,15 (D) 60,30

ussnramPaEsig apetent X, Y apdCunfan auwg eldlgb 3 : 1. Seuirsatien sHCUTMSW Quwg
efdzb 2 : 1. seuisafiar sHGuran g uwg, QLR satid

A) 40,20 - B) 20,10

() 30,15 . : ' (D) 80,30
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170.

3d.

A Mother is 20 years older than her daughter, 4 years before she was 5 timeg of her

daughter’s age at that time. How old is the daughter now?

Vo ®) 12

(C) 18 D) 16

gmlen auwsrarg) waellen awmss ST ggub 20 Hfab. 4 UGLRSESS Py Qe UL GTeng),

waeflan auwenstt Gure 5 LG araflld, sHGung waeflar aiLg
Ay 9 (B) 12

(C) 18 D) 16

A person’s present age 1s two-fifth of the age of his mother. After 8 years, he wﬂl be one half
of the age of his mother. How old is the mother at present?

@) 42 W 10 ©) 45 (D) 48
@ suflen gpGUTeng suwg Sjeu gmurien suwifle) phld @iram() LLRETS 2 a1ang). 8 au(fLREaT
&0 55 sieuflel euwig), sieur smumder cuwida UrQwirs o arerg). smuriler HEUTEMS W GG cTewme?
Q) 42 (B) 40 © 45 (D) 48
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152. . Read the following statements :

1. Either A and B are of the same age or A 1s older than B

2. Either C and D are of the same age or D is older than C

3. B is older than C o

Which one of the conclusions can be drawn from the above statements?

"K A is older than C (B) Disolder than C
(C) Aisolder ihan B (D) B and D are of the same age
G ereuqmwd &w;mmu UG58 |
1. A-yd B-yb sweuwigient wicuiger wag A pareut B-g ofl Quiflwiens
“ 2 C-yyb D-iyb svaswgent_weuiser seeg D eyareur C-g efle Quflweur

3. B gyemeuir C-gg el Quiflweun

CuwCe e_ater sapmysaflell(mBg BT sngyb Srwramd wrg?

A  Ageaeur C-g el v Quflweur - (B) D oyaaur Cg afled Quitwer
(C) A geeur B-g ol Quflweur (D) B-yw Dy sueuwugmiwairsesr

-

91. A father said to his son, "Your age now is the same as my age at the time ofyour bu-th” If
the father’s age is 38 years now, the son’s age five years back was '

/w’m . ® B
© 2« ~ (D) 38

_ 9@ SHeg - msaﬂr_,m Qammﬂmmr ‘8 \Slma,'@wGurrg erest mu.lg @u@urrg 2.6 suu.:gj erengy. @enm
- gbeogulien cuwigi 38 w@smcrmmrrm 865 m@_ms@sg@pmmaaﬂm auwg aenen? .

@ 14 @w@m S B 19 q,mr@sm |
© 24 %@r@m- S (D) ByeEmRad
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| 149 The d.l.ﬁerence between the preaenl: ages of P and Q i8 8 yrs am:l the ratm of theu' present o
o ages is2:8 respectlvely What is P’ 3 preaent age‘? :

Y 16yrs L e 24yrs
. _'_(c> 12yrs - o (D)I 30yrs

r-

-

P WHHIE Q—arr ;mpcurrmgu.} mu..@-sqﬂw aila'élgu) 2: 3 Gusgm.b &mnwm wmg&aﬂm sﬁ];ﬁu.:rrsm

'--'..._SMGMﬂeﬂmP—mpmGunmumug .' eﬁ,sur@esm
@ .. - ®ou

36. HHeS HHID m&aﬂm mu@an &u_@g,ansm&. an&gm 50 .gg,m@&m 4 GD. |
6 amLsdde way s @Goafar oudéa CQuEsesCgTesurea g
SFavwpdlen shomg awdeér GELbars 2 ereng. sHCLTE shans wHRD waaidr

Qawg)
A) 40 gmBesr, 10 yeorBser B) 4] gyw(sst, 9 sydmHaer
C) 38 gy@m@ast, 12 Syam@osr D) 42 g@upash, 8 sm@se.

The sum of the ages of a father and a son is 50 years. Six years ago, the product
of their ages was twice the father's age at that time. The present age of father
and son respectively are

A) 40 years, 10 years ' B} 41 years, 9 years
C) 38 years, 12 years \p)/ 42 years, 8 years. =

https://t. me/tnpscfree https://t. me/tnpscfree https://t. me/tnpscfree





